Questions to Lecture 6 – Business cycles
1. Why Great Depression could not be explained by classical theory?

During the Great Depression, the classical theory defined economic collapse as simply a lost incentive to produce, and the mass unemployment as a result of high and rigid real wages. To Keynes, the determination of wages is more complicated. First, he argued that it is not real but nominal wages that are set in negotiations between employers and workers, as opposed to a barter relationship. Second, nominal wage cuts would be difficult to put into effect because of laws and wage contracts. Further, if wages and prices were falling, people would start to expect them to fall.

Main problem is that classical economy assumes market clearing through price adjustment – i.e. if we observe high unemployment, it should be followed by lowering of wages and consequent decrease in unemployment – which didn’t happen during Great Depression

2. Define a model business cycle. Why is the economy inherently unstable – always fluctuating?

The business cycle can be defined a short run fluctuations in output and employment. When recessions happen there is a decline in real GDP for two or more consecutive quarter, accompanied with unemployment; and when there is depression any economic downturn where real GDP declines by more than 10 percent, longer and more severe than recession. During recessions not only are more people unemployed but those who are employed have shorter workweeks, as more workers have to accept part time jobs and fewer workers have opportunity to work overtime. The economy is unstable because in the short run the prices are sticky. (when prices increase unemployment decreases, and when prices decrease unemployment increases.)
Depression: any economic downturn where real GDP declines by more than 10 percent, longer and more severe than recession

Model business cycle: peak – recession – trough – recovery (and connected changes in income and unemployment)

3. State 3 stylized facts about business cycles.
One is persistence.  Another regularity is cyclical variability Yet another regularity is the co-movement.
· No predictable (regular) pattern
· Different components of output are affected unevenly

· Asymmetries between rises and falls in output

4. Derive the shape of aggregate demand curve from the quantity theory of money.
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M= money supply and V= velocity of money
M and V determine the nominal value of output PY. When PY is fixed if P goes up Y goes down. This is why the aggregate demand curve slopes downward. At the same time supply and demand are another reason for the downward sloping, because the higher the output there is a need for higher real balances and the higher the real balances the lower the price level is, and the other way around. 

5. Imagine people start to pay more by credit cards. What impact does it have on the framework of quantity theory of money? What effect would it have on aggregate demand curve? 
It would decrease money supply because people would use the money that they don’t really have in hand so therefore reduction of money tells us that for any given price level the amount of output is lower and for any given amount of output the price level is lower therefore this would have an effect on the aggregate demand curve by shifting it inward.
If they pay by card => higher velocity of money (the same “crown” can be used in more transactions) => at the same level of money supply and prices  we see increasing demand for output – AD curve shifts right.

6. How does the long run aggregate supply curve look like and what assumption it is based on?
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It’s a vertical line and it is based on the assumption that the level of output is independent of money supply, the natural level of output, unemployment is at its natural rate. The aggregate demand affect prices on the vertical aggregate supply curve but not output.

7. What is the impact of the money supply decrease on the AS-AD framework in the long run?

If the money supply decreases the aggregate demand curve would shift to the left (or downward) which in the long run would lower the price level but it would leave the same output. 

8. How does the short run aggregate supply curve look like and what assumption is it based on?
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It is a horizontal line and not vertical because of price stickiness. In this case all prices are fixed in the short run therefore if it was put together with the aggregate demand curve it would decrease or increase output at a fixed price level. 

9. ???№7
What is the impact of the money supply decrease on the AS-AD framework in the long run?

It is the same question as number seven. – my mistake, I mean in the short run. In the short run, decrease in money supply implies decrease in aggregate demand at given prices
10. What do we understand under classical dichotomy? Does it hold in the short run? Does it hold in the long run?

The classical dichotomy helps us determine what will happen with the price and output in the long run and in the short run without knowing the level of nominal money supply or rate of inflation. It would probably not hold in the short run because prices are sticky and changes in the aggregate demand curve only affect the output where as in the long run it will hold because changes in the aggregate demand curve affect the price.
11. What is inflationary gap? What implications does it have on the evolution of prices / unemployment?

It is the amount by which the real GDP exceeds potential GDP, it is when there is too much demand in the economy.  This causes the prices to increase if the economy is at full employment and if it is not than it increases in production. 
12. What is recessionary gap? What implications does it have on the evolution of prices / unemployment?

It is when an economy is operating at below its full employment equilibrium. It leads to decreasing the prices in the long run because the real GDP is currently lower than it is at full employment. 
13. Explain the combined short and long run effects of decrease in money supply.
In the short run a decrease in money supply causes the aggregate demand curve to shift downward causing a decrease in the level of output because the aggregate supply curve is horizontal. In the long run it would lower the price level leaving the same output. The long run equilibrium contains and intersection combined from the long run aggregate supply curve and the aggregate demand curve; furthermore prices adjust in the long run so the short run aggregate supply curve crosses the same point. To conclude a decrease in money supply shifts downward the aggregate demand curve which causes a decrease in output in the short run but affects only the price level in the long run. 
· It would be good to provide a picture
14. Give an example of negative demand shock and positive supply shock.
Negative demand shock decreases demand. When demand decreases, its price typically decreases because of a shift in the demand curve to the left. For example, taxpayers owe the government less money after a tax cut, thereby freeing up more money available for personal spending – BAD example – actually tax cut is a positive demand shock
A positive supply shock could be technology advancement making better production causing to increase output.  - OK
15. How would you define stabilization policy?
It’s a policy that maximizes national income in order to help reduce fluctuations in unemployment and inflation by expanding demand when there is high unemployment and to cut demand when inflation raises.  
16. What is laissez faire policy?

It is that economy will self adjust to optimal position. Noninterference in the affairs of others.
In other words, it means allowing industry to be free of state intervention, especially restrictions in the form of tariffs and government monopolies.

17. What are the tools of fiscal policy? How do they affect aggregate demand?

Fiscal Policy refers to the methods employed by the government to influence and monitor the economy by adjusting taxes and/or public spending. In doing so, the government aims to find a balance between lowering unemployment and reducing the inflation rate. The main tools of Fiscal Policy are changes in the composition of taxation and government spending. The two main instruments of fiscal policy are government expenditure and taxation. Changes in the level and composition of taxation and government spending can impact on the following variables in the economy: aggregate demand and the level of economic activity Governments use fiscal policy to influence the level of aggregate demand in the economy, in an effort to achieve economic objectives of price stability, full employment, and economic growth.
18. What are the tools of monetary policy? How do they affect aggregate demand?

The monetary policy tools available to achieve these ends: increasing interest rates by fiat; reducing the monetary base; and increasing reserve requirements. Wages and prices will begin to rise at faster rates if monetary policy stimulates aggregate demand enough to push labor and capital markets beyond their long-run capacities. In fact, a monetary policy that persistently attempts to keep short-term real rates low will lead eventually to higher inflation and higher nominal interest rates, with no permanent increases in the growth of output or decreases in unemployment. Policy also affects inflation directly through people's expectations about future inflation
+ open market operations.

19. Which part of the economy is affected by supply side policy. What changes to AD-AS framework does it imply. 
Typical policy recommendations of supply-side economics are lower marginal tax rates and less regulation. Maximum benefits from taxation policy are achieved by optimizing the marginal tax rates to spur growth, although it is a common misunderstanding that supply side economics is concerned only with taxation policy when it is about removing barriers to production more generally. Supply-side economists have less to say on the effects of deficits, and sometimes cite Robert Barro’s work that states that rational economic actors will buy bonds in sufficient quantities to reduce long term interest rates. Critics argue that standard exchange rate theory would predict, instead, a devaluation of the currency of the nation running the high budget deficit, and eventual "crowding out" of private investment..
20. How does the trade policy affect the aggregate demand?

Trade policy affects both Aggregate Demand and Aggregate Supply, and it affects other countries.  For example, tariffs will increase domestic Aggregate Demand (diverting purchases away from imports) and decrease domestic Aggregate Supply (due to the higher cost of imported resources) in the economy imposing the tariffs.  Tariffs have the opposite effect in the country against which the tariffs are levied.

21. In case of positive demand shock, describe the optimal government response (think about monetary policy).

A positive demand shock increases demand 

The case for monetary policy does not rely on it being fast to react relative prices, rational expectations imply that anticipated Government policy can help clear current markets. While rationality of expectations strengthens the case for monetary policy it may weaken the argument for increased price flexibility as a method of dealing with shocks,
Quick monetary policy aimed at full employment is shown a slow response. Both give full employment but a slow response requires the imposition of a higher inflation tax. While quick monetary policy is better than a slow response there is a case against instantaneous response to shocks. If full employment is guaranteed costless by government the wage and the price level become indeterminate. Guaranteeing full employment by means of an inflation tax gives an incentive for wage and price setters to minimize the need for government intervention.
To sum up – in case of positive AD shock, economy is producing more than natural level of output and prices are going up. Appropriate response is therefore decrease in money supply, which should shift economy back to natural rate of output.

22. Why we cannot fully evaluate the final effect of governmental policies? How do you understand the “multiplicator” effect?

In economics, the multiplier effect or spending multiplier is the idea that an initial amount of spending (usually by the government) leads to increased consumption spending and so results in an increase in national income greater than the initial amount of spending. In other words, an initial change in aggregate demand causes a change in aggregate output for the economy that is a multiple of the initial change.
 The multiplier may vary across countries, and will also vary depending on what measures of money are considered. For example, consider M2 as a measure of the U.S. money supply, and M0 as a measure of the U.S. monetary base. If a $1 increase in M0 by the Federal Reserve causes M2 to increase by $10, then the money multiplier is 10.
